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INECUACIONES SIMULTANEAS

PRACTICA
L. Parte: Resolver y graficar las siguientes desigualdades simultaneas. Expresar el
conjunto solucion.
1 5x —4>12—-3x y 7x +9 >34+ 2x
2 —11x+8x+4<7 y —4x—-7<9-9x+ 2+ 2x
3 x(x+4)-3<(x—1(x+3) y 2Bx—1)<x+8
4 x+3)(x—=2)—2=(x—-2)(x+2) y 2c—1)+3(x+4)>x+6
5 3 3 1 1 1 5 5
E"_Z"‘SE_?‘ y —Zx—x<§—gx
6 3x-5<1 4—-2x>8
7 3x(2 —3x) + x(x — 5) > 4(3 — 2x?) y S5x(x+7)—8(x—3)>x(5x+3)+ 27
8 x—8_4x—3>0 y f_|_2x_1<0
2 3 3 5
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Respuestas impares:

5x —4>12—3x y 7x +9 > 34 + 2x
x>5
(5, +20)
{x € R:x > 5}
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3x(2 —3x) + x(x — 5) > 4(3 — 2x?)
x> 12

(12,4+00)

{x €ER:x > 12}

y S5x(x+7)—8(x—3)>x(Bx+3)+27

— 6 -4 -2 0 +2 +4 +6 +8 +10 +12 +14 +16+18
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